AP Statistics






Name: _______________________________
Roll until “doubles”

A game of chance is played in which two dice are rolled until “doubles” are rolled. A trial consists of a sequence of rolls terminating with a roll of “doubles”. This can be simulated on the TI 83 or TI 84 calculator using the randInt(1,6,2) command. This will select two numbers at random from 1 to 6 inclusively.
We want to construct a histogram of the number of rolls until “doubles” are rolled. Use the calculator to simulate 20 plays of the game.

	Trial
	Rolls
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	30
	


Construct the histogram on the grid below.

[image: image1]
Describe the shape, center and spread for this distribution.

Locate the mean and the median for this distribution. Which is larger? Why?

Let’s play a game…

If you can roll the dice 6 times without rolling “doubles”, I will give you $1. However, if “doubles” are rolled on the first through sixth roll, you pay me $1…. Who wants to play?
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